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Challenge ; ) o _ Emmp|e
7/ Estimate the answer first, then partition each of these 63 x5 — 60 x 5 = 300"

calculations to work out the answer. = (60 x 5) + (3 x 5)

300 + 15
315

a 47x5 b 32x4 c 64x3
d 53x5 ‘e 26x4 f 74x3
g 38x4 h 91x8 i 85x3

Challenge »
20| Solve these word problems.

1 Martin receives 3 Wrapping

27 birthday paper is sold
cards every year in 3 metre
for his birthday. rolls. Jamie
He is now 8 buys 48 rolls.
'years old. How How many
many cards has metres.. of
he received in wrapping
total? paper in
total?

16



